1 Definition of Derivative 4. f'(z)

Use the definition of the derivative to find f'(x). - AI;;IEO Az
— . =9
1. f(z) =322 -4z +5
. 5. /()
2. flx)=1—-=x ~ lim [3(z+Az)?+5(z+Az)+1]—[32> +5z+1
© Az—0 Az
4 J@)= @D+ 1) 6
5. f(x) =322 +5x+1 — im [1+4(1:+AI)—2(17-£AJ;)2]—[1+4a;—23;2]
Az—0 x
6. f(x) =1+ 4a — 222 = =4—dx
7. flz) =7 7. f(x)
. VatAz|-[vz
S fla) =97 = i, DA
- .= _1
9. f(x) =54 3z — 222 -T2
10. f(z) = vbx —2 8. f'(z)
1 — lim [9—(9:+Aw)2}—[9—a;2]
11. = — Az—0 Az
f(x) xT — . = —Qx
1
12. f(o) = — 9. f'(z)
r= — 1 [5+3(1+Am)72(x+Ax)2}7[5+3172z2]
13. f(z) =3 — 62 — 22 T Aao Az
= =3 4
14. f(z) = (v — 2)?
_ 10. f'(x)
15. f(x) =sinz . [V/5(e+az)—2] - [vEz—2]
1 2 T ATS0 . Az
6'f($)_x—1 T T 2k
17, f(2) = — 1. f(2)
z+2 ==l
= lim =H8Le
18. f(z) =cosx _Bem0
3 "
19. =
1@ =7 12. f'(x)
Answers: = lim —[@} mE=)
) — p @A)~ f(@) A
fi(z) = Armo Ax N
1. f'(z) 13. f'(=z)
_ iy BE+An)?—4(e+Ac)+5)- (307 —da+5] _ iy [B=8+A2)=(e+4480)%]-[3-62—0]
Az—0 Az Az—0 Aw
2. f'(x) . . 14. f'(x)
— lim [1*(““2%]*[1*”” ] _ iy [(+an-2)?]-[@-2)?]
Az—0 T AZ—0 Az
— .= _9%% Ny
3. f'(2) /
2111 _[9,2 15. f'(x)
= Ahmo [2($+AI) Zml] [Qw +1} — lim [sin(erAAa:)]f[sin x)
— .. =dg =272 cos g



16. f

17.

18.

19.

lim
Ax—0

f'()

lim
Axz—0

[araae] =]
xT

_ 4
— (@+2)?

[cos(z+Ax)]—[cos z]
Az

—sinz

[t - [=5]
Ax
3

@+1)?



